
Pre-Calculus Test Prep 
Chapter 6 Review 

 

Find the exact value for each expression below. 
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14.  Prove the identity.  4 sin2 θ + 2 cos2 θ = 4 – 2 cos2 θ 
 
 
 
 
 



Prove the following identities. 
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Find the exact value of each expression. 
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Solve each equation on the interval [0, 2π). 
28.  03tan =+θ  
 
 
 
 
 
 
 
 
 
 

29.  sin(3θ) = 1 

30.  sec2 θ = 4 
 
 
 
 
 
 
 
 
 
 
 

31.  cos(2θ) = sin θ 

32.  2 cos2 θ + cos θ – 1 = 0 
 
 
 
 
 
 
 
 
 
 
 

33.  8 – 12 sin2 θ = 4 cos2 θ 

 
Use a calculator to solve on the interval [0, 2π).  Round to the nearest hundredth. 
34.  cos θ = 0.6 35.  cot θ = 2 36.  csc θ = -3 

 
 
 
 
 
 
 
 
 

 
 


